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I b\uunl'sLbf , u{rt I,qm'l 31681.8 3t722.8 41 .0

I altu)ruljuL ut'xLnLltnhs 28034.9 28034.9 0.0
2 nLu,LLftiu,\ur, qFur\ub\LUJhs 0.0
3 qduFn'lb 6urnu.,Jn{dtmbtrtrhs 0.0
4 {ut&ulurt mptDLhho 90.0 120.0 30.0
5 Uu.truuunt Luh L !nLInLLur hLlJurldunhhnhq 18.0 24.0 6.0
6 l}nu'Iu2tnnhbg 2942.9 2942.9 0.0
7 sfttLutuu\urt oqtlrtrplnrbf g 0.0
8 u\''nb'IrtnFl qtFuptFq 2bnphttphg 596.0 596.0 0.0
9 blurdmubtnhtr lhnrurtDn! 2tmp}lhtnho 0.0
10 Furtr\F unUnubg 0.0
n utr hl.ru r|'-nLhpbg 5.0 5.0

I I oulrubn, ujrl Fqnr 31681.8 30067.5 -1614.3

I u2luu '.r)ru Ll'x|dtr qbnq, nnhs 25829.4 u104.4 , t724.6

1 . 1 utnunurllul hrrdnlpluhhumr!'Iu!\uqutdttth qEnrl 0.0
1.2 u]ulrqLuunrluh qlnq 0.0

2 etnnls ut qlnq 3470.0 3522.0 52.0
3 brL\urFurtLtpqbutb qbnll 882.3 900.0 t7.7
4 antlnq trnlnqm qbnq 33.3 34.0 0.7
5 Ury:ruhurlln plurtr qEn{ 192.0 144.0 -48.0

6 uluuruFu.tumlqurL qbntl 0.0
7 qtur{h qbn'I, rul4 p'lmrf' 59.1 58.8 -0.3

7 . 1 pudortnnrtullrh {durrr 57.6 57.6 0.0
?.2 nnqtuqdurr 1 .5 1.2 -0.3

7.3 Itburtttrtu \uul 0.0

8 Fub\ulft bunu;mplub q6n{ 0.0
9 Sltntuu\ub uqpurllpirtpf qbn{ 15.0 2 t . 5
t0 qrluuttrlulUulht urutirurLptt1h qbnq 45.2 62.2 17.0
u uFurqu '.q2 unuln\ulbtnb qbnq 0.0
12 ubtaf qEn{ 0.0

snutruqnnub qbn{ 0.0
ft Furshq LltFutunnquut qbnLL 0.0

l5 Uu.iuruun\du1tr U \nJmbut hul urqdulthtFh qbnq 18.0 22.1

l6 aLnn,sdruL hu u\urnqh uulruuuFqJub qbnrl 495.5 536.1 40.6

t 7 rlFuliur2LnF,h qEnq 0.0

l8 rh'hru\u,b'jhznst,Lnh Ju,2qubnlpluib qbnq. nnhs 596.0 595.0 0.0
18.1 uLhuumts unusrlut 596.0 596.0 0.0

19 b\ullm'-nLtnbt'ltnulFtprul 2bnphLtpf qbn{ 0.0
20 ?+nlunuutnLsqnJl hL!ntrtnh qbnq 0.0
21 UI burnu]lDlrdtnlthtnh h burluuhnh qbnd, ul]a rddmd' 46.0 41.0 5.0

2 1 . 1 u{LuLumrn! 46.0 1.0
2r.2 qt Lrlqn uLgnul 25.0 25.0
21.3 'Ibu.rulur\uL ut{t\ubp 10.0 t0.0
2t.4 huluutullnrplmll ntun€:b pu+r$ utrt' huJut 5.0 5.0
21.5

2t.6 0.0
2 l dur hnrldu, h u,Ftlh qbnq 25.0 25.0
NI 6uznh3rd /.{LUU/ 0.0 1655.3 1655.3
IV CurbmJpF turgDlrth oqrmuqggtnul, ur14 prlnul' -3199-3 -3199.3 0.0

u2lu uriu'luni.h qbnq 3199.3 3199.3 0.0
2 0.0

gnhs cuznh3la /{LuU/ ,,4,.t ) t -3199.3 -t544.0 1655.3
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I
'Ipunlur\rutr rllr2ngbhplr urqruur rlhurgnp4p
hur2{hurm dunlurhur\ur2r2uhh uUq1bh

4804,5 4804,5 0,0

il
C\unfhhg qpunlur\urir rl[r2ngLhp]r dntutphp ur14

F{n1il,
31085,8 31126,8 41,0

1 'tlhurur\url quru{$fg 28034,9 28034,9 0,0

2 Orumrfilu\urtr rqlur\ub\urlbg 0,0

3 {duparl}r burnurlmplnthLhpf g 0,0

4 {urp&ur\urlmplnth}rg 90,0 120,0 30,0

5 Uquuunbdurtr h \nrlmtru.rl hurdul.ldurptrhlhg 18,0 24,0 6,0

6 lprurlur2hnphfg laa) q 2942,9 0,0

7 $|rtrurtruu.r\urh oqLmppttrlrg 0,0

8 Fuh\h rnn\nubg 0,0

9 'Ihpllnopu\urL qupuph$g 0,0

10 Ull rlnrurphplrg 5,0 5,0

III
Chqunlhbg ryrunfur\urh rllr2nghhplr hphp ur14
prlnul,

35890,3 35490,7 -399,6

ur) gUpugh\ urlq prlnuf, 32676,O 32234,5 -381,5

1 U2]uuurunlurpdlr qbnr], nplrg 25829,4 25429,4 0,0

1,1 bhpuurur\urtr lppmplurh huruut\ urtr\ullu4dhtpf qhn{ 0,0

1,2 u{urpqLurun urL qbnq 0,0

2 Ahnnr-gdurL qbnq 3470,0 3229,3 -240,7

3 h1h\urpurtlhpqbutlb qbnq 882,3 728,4 -153,9

4 Qprfnq-\nlnr4m qbnr{ 33,3 t q ? -4,0

5 UrtpulurLmpl urh qbnq 192,0 r44,0 -,18,0

6 Uluuurpu.rLmpptL qbn{ 0,0

7 9urqlr qEn{, u14 prlnt ' q q l q a l 0,0

7,1 purdurinpqu{lrh qdup 57,6 57,6 0,0

7,2 1,5 0,0

[truhptrhu \urq 0,0

8 Furtr\ur;|rh bunurlmplutr qbnrl 0,0

9 Shrnhuur\urtr ulqpurtrpLhpf qbn{ 15,0

10 $puruhLlur\ur1]rh urqputrpirhplr qbn{ A \ ) 62,2 77,0

11 Upruqurlur2 runurp\ulLtph qEnq 0,0

12 UtrL4f qEn{ 0,0

13 SpurLuqnpurlr qbntl 0,0

I4 thpurglr\'.ltpuLnpqrfurh qbn{ 0,0

15 Uquruurp\durtr h \nrlmtrurl hudunldurptrtp| q8n{ 18,0 24,O 6,0

16 thnnr-grlurtr hullulurpqlr urquruupldurt qbn{ 4qq q 536,1 4t,6

17 'tpurlur2lnphf qbn{ 0,0



18 2urp\u1|rtr ulu,rpurullnpmplmtrhkplr qbnrl, u1q prlmrl 24,O 24,O 0,0

18,1 2u*nrldulhurnl} qhnq 24,O 24,0 0,0

18,2 uue-h qbftl 0,0

18,3 iqutFhurlnrtr$lq hurp\tph qbnq 0,0

19 Vphqhutrpur\urtr qurpupf urp uL qbn{ 1506,2 1506,2 0,0

20 U11 h1ph1|r qbn{, u.r14 prlmd 46,O 41,0
20,1 qhur.rarrtpp 46,0 1 ,0 -45,0

20,2 qhtn.qpurl4nt 25,0

20,3 flruuhur\urh n\t\urtrp 10,0 10,0
20,4 horlururluqunplmtr murltgjr purdmp ratq]r hur urp 5,0 5,0

0,0

p) \urqlrrnurl urtq FqnLLt, 75,O 67,5

1 Z|lthur\urtr rllr2ngtrtpf &tnp ptpriurh qbml, ur11 prlmri' 75,0 67,5

l , l u2ur\hpurur\urtr qnilp 0,0

1,2 hruriur\urpqul|rtr urtluLlt\ur 0,0
urpnurpur-urlnnliuur\utr qnqp 0,0

1 4 ftrur\rlurp]r2btt 75,0 67,5

1,5 0,0

2 2|r tu\ul f2ngLhpf hfdLur\uL {tpurbnpnqmrf, urlq prloul 0,0 0,0 0,0

2,1 ur purg{ur6 qnlplr (2ttrpf) 0,0

q) 2uhnqp[ illtutgnl4f oquurqnpbmrl, urlq prlnuf 3199,3 3188,7 -10,6

1 U2luunur{urpd[ qbn{, nfi g 3199,3 3188,7 -10,6

2 0,0

IV
'Ipurilur\urb ilf lnghtplr urquur rlturgnp4p
hru2r[hrnm dulfurtru\ur2r2u$ {hpg$r

0,0 440,6 440,6
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